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Missing dividends and divisors

Multiplication Practice Worksheet

Find the missing numbers.

534 + =89
5607 +9 =
2520 + =504
£+ 7 =745
3200 + 4=
. +3=92
 +5=446
 +4=28

336 +4=_
 +4 =689
744 + 8=
664 + 8 =

. +9=74
440 + 5=
 +5=124
350+ 5=
560 + 8=
2500 + =625
 +4=094

201 + =67
72+3=_

630+ =70
 +9=g7

384 + 6 =
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Missing dividends and divisors

Multiplication Practice Worksheet

Find the missing numbers.

534 + 6 =89

5,607 + 9 = 623

2520 + 5 =504

5,215 = 7 =745

3,200 = 4 = 800

276 + 3 = 92
12,230 + 5 = 446
112 + 4 = 28
336 + 4 = 84

2,/56 + 4 = 689

744 + 8 = 93

664 + 8 = 83

666 + 9 =74

440 + 5 = 88

620 + 5 =124

350 + 5 =70

560 + 8 = 70

2500 + 4 =625

376 + 4 = 94

201 + 3 =67

72 +3 =24

630 + 9 =70

/83 + 9 =87

384 + 6 = 64
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